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1 Del operator

a) Apply the del operator,
V. =%
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to the function
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f(@y) =7 ="
b) Provide expressions for the components that result from applying V to f and sketch
the resulting vector field.
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b) The x-component is %zyQ and the y component is %yxz,
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2 Divergence
For each of the following, sketch the vector field and determine its divergence.
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Answer:

a) The vector field is as illustrated ’

The components are v, = x/4 and v, = y/2. The divergence is
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b) The vector field is as illustrated



The components are v, = —y/2 and vy, = /2. The divergence is
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3 Curl examples

Determine the curl of:
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